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11E #M (3)

fERE
[1] (1) A ABC IZ2BWT, AM=MB, AN = NC 72205, s L b,
r=2MN=2x4=38
(2) A ABC 28T, AP =PB, PR/ BC 722056, Wi gBoi Ly,
—lpc- L=
Yy = 2BC— 5 x6=3
72, AR=RC ThrZ Lk,

AACD I2BWTC, CR=RA, AD J/ RQ 725, W Gl L ),
z=2RQ=2x(5-3)=4

[2] 24 ABC 2B\,
BP =PA, BQ=QC 7Z»5, MrlEifEs Ly,

PQ // AC ... ©)
PQ = %AC ...... ®

L5T, APQR IZBWT, RC=CQ

@&y, SC//PQ s, HiEiEEHOML Y,
RS=SP ------ ®

(1) ®%&H, PS=SR =12 (cm)
(2) SC==z (ecm) £F5&, @&, PQ=

@&y, PQ=2x (cm)

L7hts T, %(21+x):2x Y, z=7(cm)

1
B} (21 +x) (cm)

<nllfgE>
@&y, PQ:AC=1:2
@&y, PQ:SC=2:1

L7235 C,
PQ :AC =1 :2
PQ :SC =2 01

PQ :AC :SC =2 :4 :1
£oT, AC:SC=4:1 &1, AS:SC=3:1
@ 212, SC:%AS:%X21:7(cm)
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[3] 2 ACD 125, A

F
AF = FD
AE = EC

e, HAGEREEREL Y,
FE — %DC ...... ©
AABC I2BWT, Rk, WiEisERE LY,
EG = %AB ...... @ B H o H
RELD,
AB=CD ------ ®
©, @ @&y,
FE = GE
L 5T, AEFG i EF=EG OZ%0=AFTh 5. (FEBH)
41 7/ 1 2 1 r /LMP
+ /MLP R * 2 71
o2 a1 2 v1
2 o t 2 V1 5 2
71 ) 51
[5] (1) Gix, 2 ABC OELFEHS, AD M TH 5.
©% D, D30 BC OHRELERS, BD =12 x % — 6 (cm)
(2) AG:GD=2:1 XV, GD:%AD:%X9:3(cm)
(3) EF /BC X9, A AEFcos A ABC

F72, EF:BC=AE:AB=AG:AD=2:3

ko, EF:%BC: % x 12 = 8 (cm)

[6] (1) FA J/ BC, FB J/ AC £V, 2 ok . A
DHSFAT 2246, T FBCA 1347 7
VU, w212, FA=BC -----. ©)

AE //BC, AB / EC 5
£, FRIZLT,
£/ AE=BC oo ® B Q7 /¢
®, @&,
FA=AE ------ ®
L 5T, AR EF OhfThS.
(GEI) D

1-2



(2) (1) LFBEIZ LT, DT FBCA I FATIUIEZ 205,

FB = AC

P ABDC & SFATILR 72706,
BD = AC

WzlZ, FB=BD ---... ©

®, @XY, AD, EB X, AFDE OH#TH Y, HPIXZDOREEZND, HP I
AFDE OELTH 5.
Wz, DP:PA=2:1X1,

— 2
DP = AD x 3
ZQX%:(S
@& FA ) BQ %5, s Esoms Ly,
AQ=QD
Lo,
PQ=DP —-QD

=6-—4.5=1.5 (cm)

[7] VUfIE ABCD (Z3FATPUATE 7255,

A
AE = FC

AE // FC

1RO DA FATTREPEL VAL, 1Y - .
7% AECF 14 F47 00507,

212, AF JJEC - .- © H
AN ABG I2BWT, C

AE=EB & O »5
T EGERGERE OB LD

D

BH=HG ...... ®
ADHC I2BWT, [FERRIZLT,
DG=CH ------ ®

@, ®& b, BH=HG =DGC
Lo7T, H, GIIHNAKBD % 3557 5. (FEBA#)
<nllEg>

M AC 2 0%, BD E0XE% O &
T4, WAL BOBOORETEDS

»b,
BO=DO ------ @
AO=CO ------ ®

AABC IZBWT, @&, BO ZH#i
T72, BOEL D CE 13H#.
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WzIZ, MHIZAABC OFE.L. £-T, BH:HO=2:1 &9,

HO = 1BO .. ®
BH — %BO ...... @

ADAC IZBWT, FEEICLT, HGlX ADAC OFEL. LT, DG:GO=2:1
O/

_lpo_-1lpo ...
GO—3DO_3BO ®
DG:%DOZ%BO ...... ®

®, @ G ®ibh,

. ) _2nn. (1 1 .2
BH: HG : GD = 3130.(3130+ 3Bo). 2BO

=1:1:1

£o7T, G, Hix, xfA#BD % 3 %457 5. (FERA#%)

(8] (1) Ik,
EB //FD, EF //BD

2 MO WASPATE D5, U EBDF 1%

FATUAECTH L. Lo T,
EF=BD ------ ©

EB =FD

BoEL D,
AE = EB

D12, AE=FD ... ©)
ZZC ALF EXD#%#ER AE//FD &
@&, 1HOFBAITATT, BENELWH S, WA AEDF EFATIULE. W

22,

W ECEBDOXEA G ETLHE, BD & CEX A ABC OW#7206, HG
A ABC OELTHSH. Ak G REHRTHY, BCLokiz HETs, AH X
AN ABC OWHEEN S,

BH = HC = %BC
A ABC C, AE = EB, AD = DC 75705, diiilighsesi k|

ED = %BC

ED //BC ------ ®
Wz, ED=HC ------ ®
®, @ ®, @&y, 1HONLHIPHFTEENE L VAS, MUMATE AHCF 13747
WAKTHS. LoT, AH=FC - ®

@Y, FClE 2 ABC O AH OE S5 L, (GEPH#)
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(2) AC & EF 0%tk 1 L3 5.
(1) X v, MR AEDF ZFAFIUUHE:E 75,

AIZID:%AD ......

F7:, AD=DC
®z12, @Y ID = %DC iy

DC:ID:DC:%DC

=2:1
ZZT, @Y CLIZ ACEF OH#THs. LoT, ADIFPHCIE 2:1 Dl
W2 A0 T, ACEF OELTH 5. (FERA#)
[0] &P %Y, BCIHAT&#MEVE, DC Lo D
TEEHETA.
AD // PH // BC, ZBCD =90° £ 1, .
/PHD = 90° H
AP =PB, AD / PH // BC 7275, &7 ABCD T,
o .

PH = %(AD+BC) - % % (6 +8)
=7
X o, kLM,
35

ADPC=L «DCxPH=L x5x7=
2 2 2

[10] (1) DQ Z#0Y, ZOMEREE BC OXK % R &
T4, AAQD & ACQR IZBWT,
EL D, AQ =CQ
MTEME D, ZAQD = ZCQR
AD //BC &V, ZQAD = ZQCR
1B EZDOMUDOANRZNENFEL VDT,
A AQD = A CQR

L7235,
AD=CR ------ @
DQ=QR ------ ©)

ADBR IZBWT, @& DP =PB 725, HadEfeEmLy,
PQ // BC

$7: PQ= %BR Ers, D,

PQ=5BR = 4 (BC - CR) = (BC~AD)  GEW#)

<REz>
AD //BC, AQ: QC=DP:PB £, PQ/ BC #RLTb k.
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2) (1) &b,
PQ =3 x (11-7)=2

[11] BP iR & AC DR L D% ri% D, CQ A
DIERE L AB LD EE £ 5.
/BAP=/DAP, /BPA=/DPA= 90° X
D, AABD I EN=MAE

.. AB=AD ---@®, BP=PD ---@
AkkIZ L C,
AE=AC ---®,EQ=QC ---®

@© ®&Y
BE = AB — AE

=AD — AC
—CD ---6
@ & BM =MC £V, tisgssiss s MP = %CD

@tBM:MCiD,@ﬁKMQ:%BE
Ch5E® LY, MP=MQ
LoT, ZAEMPQ IZ-SN=METH 5. (FERA#%)

1-6



[12] AB, ACoOWiiz L, N &35 &,
AL=LB, AG=GA’ k1), Tk eiEs
5 LG//BA’
A2 LT, GNJ/A'C
X o Tl GBA'C I EEATIAIE & 7%
5.
FATIUAFOx DI LD T

BG =A'C
!
—%. ABGB #E=fABTHD L hb A
BG =BG &
L AC=BG---©
$7-A'C L BG EDRNAD EF 5L,
BG//DC & h £GDC=/DGB= 60°

—7, AGCCIRIE=ALRDT, LGC'C=60°
- ZGDC = £GC'C

S /ZA'CC = /B'GC -
®, @ BLUCC =GC L,
ANACC'=ABGC (2877)
CA'=CB ---®
F7:, JANCC=/B'C'G
~/B'C'C— /AN OB = /B'C'C — /GC'C
SN OB = /GC'C=60° - @

®, @Yy, AABCIITEA60° D EDN=MFeDT, E=ZAETHA.

1-7
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(1]

(2]

(3]

AABF 2BWT, Wk EmL Y, DE /BF---@
DE:%BF £, BF=5x2=10
A CED I25WT, FiX CE®#H T, @&V, DE //BF
7Em s, W EHOM LD,
GF:%DE:ZS
k5T, BG=BF - GF=7.5
PQDIER L CD D%z R £ 5. A D
ADBC 25T, DP = PB, PR // BC 7575,
P EERER O L),
DR = RC, PR:EBC N R
FBELS, A CDA 125V, DR = RC, QR // AD
P, QR:%AD

LT, B C
PQ=PR- QR = %BC - %AD = %(BC —AD)  GEBI#®)

(1) 2~ ABD T, S, P (22124 AD, AB oif
EAEG, PAEEEE L )

PS // BD, PS:%BD @
B, A CBD T, Q, RIZZ121 BC, CD
DHRETEHN S

QR // BD, QR:%BD NG
@, @&V, mUMHE PQRS IF 1 MO LA

B 3 C

7T, ZOESIE LV, FANLET
H5. (FEPH#)
(2) ADAB T, S, N i3Z1Z# AD, BD o D

S R L ) A 3

SN // AB, SN:%AB .®

A2, A CAB T, M, Q RZh2h "
AC, BC OHifitims, P

MQ //AB, MQ=4AB @

I LEAT PTG 73 4
®, @XY, SNQM T FAFIUBTELE D5 B 3 o

SQ & MN BHWOHHTRbS. 72,
(1) &b, FATILF PQRS IBWVT, PR & SQ bHVOHHTLD L NS,
PR, SQ, MN iZ—fT&b%.  GEWI#)
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[1] AD //EF //BC, AE:EB=2:3 745,
DF : FC=AE :EB &£V, 9:2 =2:3.

£oT
27

r ="
2
72, y:(35—y)=AE:EB=2:3. 5T
3y=235—y) &0, 5y=70

Lo7T y=14

1-9




128 8 (4)

fERE
[1] (1) AB: AC=BD:DC &V, (2) CA:CB=AD:DB &9,
10:6=z:y 8:x=4:6
x:y=>5:3 S =12
r+y=12 &0, DE // AC XD,
r—19x 5 __ 15 BC:EC=BA:DA k1,
5;"3 92 12:y=(6+4):4
y=lxgy =y _ 24
5
[2] ZABE = ZCBE &1, A
AE:EC=BA:BC=9:6=3:2
£oT, AE:AC=3:(3+2)=3:5

i, AE: AC=3:5
2, FORSOS 3:5 ThHs. >
W2z, B C
(A ADE oo S) : (A ABC Dok S)=3:5
(AADE OFOES): (9+6+10)=3:5
(A ADE OfinES):25=3:5
(A ADE Off0EZ) =15

[3] ME i ZAMB O 2 S5551 737565,

A
AE:-EB=AM:BM --..-.. @
MF & ZAMC @ 2 &5 7205,
AF:FC=AM:CM ------ ®

WELY, BM=CM 7556, @, @k,
AE :EB = AF : FC

£-7T, EF /BC  GEBA#) N
A
H Oo A

M




[4] (1) #2121 AD, DB 2JEB LA D &, 2 O0O=MABIEEHIVEL VDT,
ANADC: ADBC=AD:DB=9:6=3:2

(2) AABC: ADBC=5:(8—5)=5:3

(3) DE //BC £, A ADEco A ABC #3075, ZOHBLIEE,
AE:AC=5:(5+2)=5:7
£oT, AADE: A ABC=52: 72 =25:49 7255,
A ADE : IUf5¥ DBCE = 25 : (49 — 25) = 25 : 24

(4) ZBAD= ZCAD &9, BD:DC=AB:AC=8:6=4:3

L7245 T, 2NN BD, BC 4Kl E 2D &, 2O0DZATIERH SN LWoT,
AABD:AABC=BD:BC=4:(44+3)=4:7

(5) ABDE: ACDE=6:4=3:2
A BDE= 35, A CDE=2S &8¢,

A AEC= A CDEX% - %S
- ABDE: A AEC= 38 : %S: 9:8

[5] BE i & ABC OH#724 5, A
AABE _AE 1
AABC — AC 2

AABE = A ABC =19

2 2 E
Fid 2 ABC OHOLES D5, F i3 A ABC
DELTHSZ L L, @
BF:FE=2:1 ®
AAFE _ FE _ 1 B

L7235 T,

AABE BE 3
A AFE = %A ABE

_1 .1
_3><2S
_ 1
_GS

Y 5T, A AFE= %s

2-2



[6] (1) AD /BC &V, A ANDcwo A CNM 72575,
MN:ND=CM:AD=1:2
(2) SFATILE O AL H I E 2 %55

50T | @ E ekl
) ,
A — 3 —X 0]

AO:0C=1:1
(1) £, AN:NC=AD:CM=2:1
L72h>T, AO:ON:NC=3:1:2
(3) (1) £, A ANDco A CNM T, €OMHBILIZ 2:1 7225,
AAND:ACNM=2?:12=4:1
(4) FATIUBTE ABCD Otz S &35 &,
AACD = S
F72, (2) &0,
AODN:AACD=ON:AC=1:(3+1+2)=1:6

L7255 C, & ODN: 4703095 ABCD — %s 5= % 1=1:12

(7] (1) 2 Moz ENE L Vb,
A BEF co & CDF
WzlZ, BF:CF=BE:CD=2:3 ------ ©)
T/, 2HOMBENENE LD D,
A ABF oo A GCF
WwzliZ, BA:CG=BF:CF -----. ©)

®, @&y,
3:CG=2:3

=39
CG = 3

£oT, CG= % (cm)

(2) ABEF=S & 5.

HXO% LW EMAROERKLIZELOKIZE Lvrs,
AABF _ AB _ 3

ABEF  BE 2
& %12, A ABF= % A BEF= %S
AN ABFoo A GCF L0, M =/AEomA I eIt 2 F720 5,

A GCF _ CF? 32
AN ABF - B2 22

@ 12,
AGCF:%AABF
-9  3g_ 27
=7 % 2S— 3 S
ko, ACFG:%ABEFM, 2?7(1%)

2-3
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[8] (1) AR:RC=ASAR: ASRC=3:1

(2) AP: PR=2QAP: AQPR=1:17%» A @_P
5. (1) &0, K

®\}f
: | ~
AP:PR:RC=3:3:2 ~— M

3) AQ:QS=2RAQ:2ARQS=2:1 / |\V\|
AS:SB=ACAS: ACSB=4:1 NS o /Q|\®/é |

A B
L72H3- T,
AQ:QS:SB=8:4:3

2-4



[9] D75 AB, ACIZFNZNEHZFE, AB, AC LD E#FNFNI HET 5.

AAID &EA AHD 1I2BWT,
ZAID = ZAHD = 90°

AD (33tsE
g & ) LZIAD = ZHAD

PEXDy, BA=ZAFOFRLE 1 HAPENETNEL VDT,
AAID = A AHD

DI=DH ------ ©

22T, AABD, &2 ACD olfifilb## 2 5. AB, AC 2 FNFIKLER-EED
E&I1EDI, DH %A%, QXY DI=DH ThAH5H,

AABD: AACD =AB:AC ------ ®

—7, BD, DC#EHERLE, msdd@ieoT
AABD:AACD=BD:DC ------ ®
@, ®&h,

AB:AC=BD:DC (W)

[10] (1) AO%#IKBL AL L, HEDHD BP : PC
CHHIEDPLWL PO, [FHE
Il &EHroT, T2TE, BEOLH
BP:PC &% 2HHETLoAY ERL
B,
<HEW>
B, C 45 AO $ 713 ZDHEE FIZF 5
Ui TR s 2 ENH, K L5,
ABPH & A CPK 2B, 7

/BPH = /CPK, /BHP = /CKP (=90°) |n
L0, 2MOMASERENE VDT,
ABPH o A CPK

L722%>7T, BP:CP=BH:CK ------ ©)
ZIT, AO%RJKLEARADE, AAOB & A COA OifEHIE, HEDHIZEL W
bIFT,
AAOB:ACOA=BH:CK ------ ©
@®, @kV, BP:CP =2 AOB: & COA
oxy, BL_ 2408 @ G

2-5



(2) (1) LRI B &,

©Q _ ABOC @
QA ~ 2 AOB
AR _ £COA ®
RB ~ A BOC

®, @ @DBAENTLE,
BP _CQ AR 2 AOB _ ABOC _ ACOA

=L — — SFHH R
PC QA “RB ~ 2COA X 2A0B X 2apoc — ! IR

(3) (2) THO/Z L4 E [Fo OmEM] LS. ZORBERGS L,
BP  CQ AR _

PC QA “RB

BP 4 _ 5

PC 3 gl
BP _ 3
PC 10

2%, BP:PC=3:10

[11] (1) 2 AMQ & A ABC & ZA 23T 50T, O,
AAMQ — AM U AQ 1 1 1

~AABC  AB “AC 2737 %
Lo, AAMQ:%AABC:%X18:3(cm2)

(2) EH:, AMPQ & AABC OEfEX LRSI LIETE R,
Z 2T, AMPQ=2A ABC—( A AMQ+ A BPM+ A CQP) &2 5.
(1) LKL T,

ABPM _BM BP _ 1 2 _ 1
~AABC BA “BC 27373
Lo, ABPM:%AABC:%xB:G
AN
£% ZRRC - CnCA =T34
Lo, ACQP:%AABC:%ms:zl
BLES,
AMPQ = A ABC — (A AMQ + A BPM + A CQP)
— 18— (3+6+4)
=5 (cm?)

2-6



[12] (1) 2 ACE & AEBF 2B\,
/ACE = /EBF -----. ©)

T/,
/ACE + ZCAE = ZAEB

= /AED + ZBEF

/ACE = ZAED XV,
ZCAE = /BEF ------ ®

©, @&b, 2MOmBERETNE L VAL,
A ACE oo A EBF

£ -7,
AC:EB = CE : BF

12:6 =2: BF
BF = 1
$312, AF=AB—BF=12—-1=11
(2) AE=AD =z &4 5.
AACE & A ADF 2BV,

/ACE = ZADF ... ©)
/CAE = /BAC — /FAE
= /DAE — /ZFAE
= /DAF -..... ®
@, @kb, 2o EREREL VDS, A ACEw A ADF
Lo,
AC:AD = AE: AF
12:zx=2:11
x? =132
w212,

A ABC : & ADE = AC? : AD?
=122 2°
=144 :132
=12:11

2-7



[13] (1) 2 ABIco ADBC L1, 9 9

AB: DB = AIl: DC AT F .......
=4:1
a
2
E
C T -
(2) ATFEw A CDE X b, 1 9
IE:CE=IF:CD=2:1------ ©)
(1) &, IB:BC=4:1------ ®
@O, @&h, CB:BE:EI=3:2:10
Lo,
A ABC: ABDE = (4 x3): (1x2)
=6:1

CB _ 1 1 4

JAN AN = 4 _ 2

(3) ABC = A ACI x L 2><2><4><5_5
2

/\ ERVAN = = = - = =
BDE ABC X X

e PG l><2><2><%><%:i

A A —_— _
EFG = FDH><F X 5 B
1G 1 2 6
A GH A ICH x < _ 5
GHI = A IC c 2><3><2><5 5

Lo,

S = 2 ABC + A BDE + A EFG + A GHI = % %+%+%
2 2
A T I
G
2
B 7E
C D H J
1 2 1

2-8



[14] (1) APBQ & A CBA 128\, A

/PBQ=/CBA  (Jtj@)
2L Y, /PQB = ZCAB = 90° P S

QMDD FNEINE LD,
APBQ o A CBA

RHES B BOHIEE L b, B m L
BP:PQ=BC:CA Q R
=10:6
=5:3

ABQP & APAS I2BWT, fELD,
/BQP = /PAS = 90°
BC //PS &1,
/PBQ = /SPA
2HRDOMMPMENZETNEL VIS,
A BQP oo A PAS
MR PQRS IFIEAE L D, PQ=PS 727205,
BP: PS =BP: PQ
(1) DFERLY,
BP:PS=5:3
L oT, P ZRKEOmEOILIE, HElto 2 F7205,
A BQP : A PAS = BP? : PS?
=25:9

(2) &9, ABQPco A PAS
PQ=PS=z t32% BP:PQ=5:3 L1 BP:%x

%72, PS//BC £V, A APSco A ABC 7705, PS: AP =BC: AB=10:8 =
4

5:4 &0, AP:gx

5. .4 _
Lo, 3x+5x—8

x = % (cm)

(2) LKL T, A BQPwo ASRC 7245,
BQ: SR =BQ: PQ
=4:3
LT,
ABQP: A SRC =42 : 32
=16:9

2-9



[15] C %## Y, DA TP 2ERE ABLEOXEZ FET4. 72, BAOEE FOS% E

L35,

ZnkE AD J/FC &0, PATHOEHEMIIFE L VDT,
/FCA = /DAC

FAZAIEEE LT,
/CFA = /DAE

hb e, e /DAC = ZDAE k1),
/FCA = ZCFA

LoT, AAFC EZEN=AETHY, AC=AF - ®

—7, CF//AD XV, AT ELOMEE LD,
AB: AF =BD : DC

@&y,
AB: AC=BD:DC (GERHHE)



ANHIERRE
[1] (1) AT, A ADE=APCE X0,
PC=AD, AE= %AP @

AD //BP &1,
AG:GP=AF:BP=1:3

ro, AG:%AP NG

b
B C ® —

o, @J:V),AE:AG:%:%:%lf:‘%\%,

AAGF _AF AG _ 2 1 _ 1

ANAED  AD © AE 37 2 3

(2) FATIUDI ABCD Ofifk S L3 5%, A ACD= %s

DE 1 1 1 s
A — 2 A — L X ~§ =87
AED DCX ACD 2><2S 4Sff3’5,

1 1 1 1
VAN = =A == x =S =—
AGF 3 AED 3><4S 125
|
roT, —
- 12 fe

[2] (1) A ABIco AFDI &1,
AT:FI=AB:FD=3:2

(2) (1) ¥y, DI:IB=2:3
¥7-, DH=HB Tho»b,

DI:IH:HB=4:1:5

$74bb, DI:IH=4:1

(3) A ACD Ofifiz S &4 5.
DF:FC=2:1%0, AACF:%AACD: %s

AACF IZBWT, AH: AC=1:2, AI:AF=3:5 &1,

1 3 1
AN = = = x A = —
AHI 2><5>< ACF 105 ®
1 1

7., AH=HC XV, ADCHZEAACDZ 55
ADCH IZBWT, DF:DC=2:3, DI:DH=4:5 X1,

2 4 4
A p—— _— A = — RS
DFI= 3 X 5 x AN DCH 155 ©)
4

1
@, @&, A AHL: A DFI= 1—05:1—5
<RllEE>
ANAHI & AFDI I2BWTC, ZAIH = ZFID L0,
A AHL: AFDI = (AT x HI) @ (FI x DI)
=(3x1):(2x4)
=3:8

S=3:8

2-11



(3] (1)

3)

A ABP & A ACP 3K AP 753t
THoH75, HEORITE IO
Lw. AE 713 20EE 112 B, C
o T A LEERE 2NN BF, CG

Y5 L,
/BFE = ZCGE = 90°

5, ALV, BF ) GC
£ o7T, ABEFw A CEG 7205,
BF :CG =BE: EC

hky,
A ABP: A ACP=BF:CG=BE:CE=3:2  (GEH#)

HORD X 912, & ABP, A BCP,

A

AN CAP OHifE= ZNE S;, So, S
L¥nE (1) £

5125323:2

S D Q
FEEIZ, So:S3=BD:DA=2:3 ‘
J:OT, 31252353293426 52

E C

2, B
CQ:QA=55,:5,=4:9

K% BP, PQ L3 p&msd@Ly,
A ABP: A APQ=BP : PQ

kI, A CBP: A CPQ=BP: PQ 745,
(2 ABP+ A CBP) : (& APQ+ 2 CPQ) = BP : PQ

£oT, BP:PQ=(S14+52):53=(9+4):6=13:6




(11 U ABCD @ PATINLIE L », BO = DO
AN ABD IZBWT, Ed24A0%# AO, BF O LD, BLTHEEVZ L.
£o7T, AE:EO=2:1
AO=CO &9, AE:EO:0C=2:1:(2+1)=2:1:3



13 MM (5)

i)
(1] (1) M 1:2 &0, ©1:8, @1:4

MR
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